3-2-notes.notebook

S 2.1 Law © <C CDgl‘neg
c Sss

b . Y =3 bt 2ab cos Cj

& = b 4c*nbe cos A

\
f\ c B VYo g ast-lac cos’B

Horew's fo’\mwpq

Q‘%-%q whew 5= 22
’ 2

November 02, 2016



3-2-notes.notebook November 02, 2016

Fill in the blank.
When you are given three sides of a triangle, you use the Law of to find the three angles of the triangle.

C, S/ e S SSS

Fill in the blank.
When you are given two angles and any side of a triangle, you use the Law of to solve the triangle.
g fne S 7‘4}4 5‘_ /45A-

Fillin the blank.
The Law of Cosines can be used to establish a formula for finding the area of a triangle called Formula.
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4. + I3 points LarTrigd 3.2.005.

Use the Law of Cosines to solve the triangle. Round your answers to two decimal places.
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5. + —I3 points LarTrig9 3.2.010.MI.

Use the Law of Cosines to solve the triangle. Round your answers to two decimal places.
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Use the Law of Cosines to solve the triangle. Round your answers to two decimal places.

ﬂ=50,b=2?, c=70 é SSS, Coe H'—kf' (.H,g:\gouk’\

Use the Law of Cosines to solve the triangle. Round your answers to two decimal places.
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8.+ I3 points LarTrigd 3.2.029.

Complete the table by solving the parallelogram shown in the figure. (The lengths of the diagonals are given by ¢ and d. Round your answers to two decimal places.)
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gk + —/4 points LarTrig9 3.2.031.

(90 ’,{—/\/0*/"\

Determine whether the Law of Sines or the Law of Cosines ifleeded to solve the triangle.

a=4, c=3, B=50°

b vl S‘A’S g‘,’{'CL\ »

O Law of Sines

o

O Law of Cosines é-o

A 3 B

Solve (if possible) the triangle. If two solutions exist, find both. Round your answers to
O
=| 8203 ° two decimal places. (If a triangle is not possible, enter IMPOSSIBLE in each corresponding answer blank.)
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10. + /4 points LarTrig9 3.2.033.
Determine whether the Law of Sines or the Law of Cosines is needed to solve the triangle.
A=25° a=7, b=18 o N\ 2
O Law of Sines Io lq/' x/7)7'1\)(ij '
O Law of Cosines 2

Solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decimal places.
6= (If a triangle is not possible, enter IMPOSSIBLE in each corresponding answer blank.)
c= °
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11. + —/2 points LarTrigd 3.2.046.

A plane flies 830 miles from Franklin to Centerville with a bearing of 75°. Then it flies 687 miles from Centerville to

Rosemount with a bearing of 32°. Draw a figure that visually represents the situation, and find the straight-line distance and bearing
from Franklin to Rosemount. (Round your answers to one decimal place.)
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12.  + —I4 points LarTrigd 3.2.056.

An engine has a seven-inch connecting rod fastened to a crank (see figure).
1.5 in. 7 in. C
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(a) Use the Law of Cosines to write an equation giving the relationship between x and 8.

(b) Write x as a function of 8. (Select the sign that yields positive values of x.)
(c) Use a graphing ufility to graph the function in part (b).
(d) Use the graph in part {(c) to determine the maximum value of x.
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13. = —M points LarTrigd 3.2.058.

A parking lot has the shape of a parallelogram (see figure). The lengths of two adjacent sides are 70 meters and x = 110 meters.
The angle between the two sides is 70°. What is the area of the parking lot? (Round your answer to one decimal place.)
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H 50 from rextboole

13.  + —/1 points LarTrigd 3.2.058.

A parking lot has the shape of a parallelogram (see figure). The lengths of two adjacent sides are 70 meters and(x = 110 mgters.
The angle between the two sides is 70°. What is the area of the parking lot? (Round your answer to one decimal place.
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